Maths Home learning w/b 10th May

This week we are learning to;
· Recall number bonds to 20.
· Subtract ones from two-digit numbers.
· Add two-digit numbers and ones together with regrouping.

Lesson 1
Practise your number bonds by choosing a song from this link:
number bonds to 20 - YouTube
Complete the work sheet by finding 6 different ways of making 20. Challenge: How many ways can you make 20? Draw them on another piece of paper.
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Lesson 2
Practise your number bonds by choosing a song from this link:
number bonds to 20 - YouTube

Play the number bond game with an adult in your house. Who can find the pairs of numbers that make 20?
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Lesson 3
Look at these equations. What do you notice? What is the same?
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Can you complete these equations?
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Lesson 4
Look at these equations. What do you notice? What is the same?
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Have a go at these subtraction equations.
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Number Bond Sticks

These number bond sticks are made from 18 white cubes and 2 grey cubes.

[18]+ [2]- 20

Can you use two colours to make your own sticks with number bonds
to 207 Write the matching number sentence below each picture.
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Four in a Row Game
This is a game for 2 players.
 Each player chooses @ different coloured pencil.

+Take it in turns to choose 2 numbers on the grid that add together to
make 20.

+1f correct, colour them in
+The first plager to connect 4 numbers wins the game.

1 20 5 6 2

10 16 | 20 10 | 20

15 18 1] 12 13

17 7 14 o 9
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o Adding Numbers

LO: to add (2 digit + 1 digit not crossing 10)

246 2 4+3=
1246

32+6= 4443
52+6= 64+

1+8 4 3+45=
1+8 13+

2148 33+5
4148

542 6 6+3=
15+2 16+

4542 36+3
7542

243 8

1243

7243 4645
243

742 10.5+3=
1742 15+3
67+2

87+2
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e Subtracting Numbers

LO: to subtract 2 digit - 1 digit not crossing 105)

8-4= 2 4.3
18-4= 14-
38-4= 64-
58-4= 8-
Q.7 475
19-7 17-
2-7= 47-
797 87-
5-2= 6 6-3=
15-2 16-
45-2= 56-
85-2= 8-
b-4= 8 8.5-
16-4= 18-
T6-4= 48-
96-4= 78-5=

59-4=
89-4=





